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Classifying Reaction Comic


A. Synthesis (Combination) Reactions
        A+B=AB
         Unbalance: P4+ O2= P2 O3
          Balance: P4+ 3 O2= 2P2 O3
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B. Decomposition Reaction
                  AB= A+B 
    Unbalance: NO2= O2+ N2
    Balance: 2 NO2= 2 O2+ N2
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C. Single Replacement
      A+BC= B+AC
Unbalance: Pb + H3 PO4= H2+ Pb3(PO4)2
[bookmark: _GoBack]Balance: 6 Pb + 4 H3 PO4= 6 H2+ 2Pb3(PO4)2
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D. Double Replacement Reaction
                    AB+CD= AD+ CB
Unbalance:  Mg Cl2 + Li2 CO3 = Mg CO3+ Li Cl
Balance: Mg Cl2+ Li2 CO3= Mg CO3+ 2Li Cl

  
 [image: ] +[image: ]=[image: ]+[image: ]
image5.png




image6.jpeg




image7.png




image8.jpg




image9.jpeg




image10.jpeg




image11.jpeg




image12.jpeg




image13.jpeg




image14.jpeg
y
Ry G




image1.png




image2.png
(e




image3.png




image4.jpg




